Should households pay for a
competitiveness shock?

By Henri Sterdyniak

France is suffering from an industrial problem. Its current
account balance went from a surplus of 2.6% of GDP in 1997 to
a deficit of 1% in 2007 and then 2% in 2012, while Germany
went from a deficit of 0.4% of GDP in 1997 to a surplus of
5.7%. This raises the issue of France’s industrial recovery.
Should a major transfer take place from households to large
companies for the purpose of a competitiveness shock or to
redress business margins? There are many who advocate such a
shock (including the MEDEF, but also the CFDT). This would
reduce employers’ social contributions (by at least 30 billion
euros) and in return increase levies on households. The issue
of France’'s industrial recovery is discussed in detail in the
latest Note de 1’OFCE (No. 24 of 30 October 2012).

It is out of the question to reduce the social security
contributions of employees, as these finance only retirement
and unemployment benefits, and thus contributory benefits that
depend on the contributions paid and that cannot be financed
through taxes. Only employer contributions intended for the
family or health insurance can be reduced. And then it’s
necessary to find a substitute resource: VAT or the CSG wealth
tax?

In fact, there is little difference between an increase in the
CSG tax and an increase in VAT. In both cases, households will
lose purchasing power. In the case of a VAT increase, this
would 1involve higher prices. However, inflation 1is
automatically reflected in the minimum wage and social
benefits, and after wage bargaining, in salaries too, so any
gain in business competitiveness / profitability is likely to
be temporary unless indexing is suspended. In contrast, the
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victims of a higher CSG would not enjoy automatic indexing
mechanisms and would have to accept a reduction in purchasing
power. Using the CSG thus makes for a more long-term option.

The big issue at the macroeconomic level is the reaction of
companies, which will have to arbitrate between maintaining
their prices to rebuild their margins or lowering their prices
to become more competitive.

Let’s imagine ourselves in a country with a GDP of 100 and
exports and imports of 25. The share of wages (including
employer contributions) and consumption is 80, and the share
of profits and investment is 20. In the short run, wages and
pensions are fixed. The reform consists of reducing the amount
of employer contributions by 5 (i.e. 5% of GDP), while
increasing the CSG tax by the same amount Two scenarios can be
adopted based on the pricing policy chosen by companies.

In the first case, the companies maintain their prices and
increase their margins. There is no ex post gain 1n business
competitiveness, but profitability rises. Wages suffer a loss
of 6.25% of their purchasing power (i.e. 5/80). Will the
revival in investment offset the fall in consumption? Let’s
use standard assumptions, i.e. a propensity to consume wages
of 0.8 and to invest profits of 0.4, with a multiplier of 1.
GDP falls in the short term by 2% and employment first drops
and then eventually recovers due to the substitution of labour
for capital. The measure is costly in terms of purchasing
power, and higher employment is not ensured.

In the second case, the companies fully pass on the reduction
in charges in their producer prices, which fall by 5%, with
consumer prices decreasing by 4% (as the prices of imported
goods remain stable). The purchasing power of wages is down by
only 1%. The gains in competitiveness come to 5%. Will the
gains in foreign trade offset the reduction in consumption?
With a price elasticity of exports of 1 and of imports of 0.5,
GDP increases by 1.25%. The measure is less painful.



Should it be done?

The government needs to ask households to accept a reduction
in their income, even though they have already lost 0.5% in
purchasing power in 2012, consumption stagnated in 2011 and
2012, France is in a state of recession, and demand is already
too low.

Should France adopt Germany'’'s strategy: to gain
competitiveness at the expense of household purchasing power,
knowing that this strategy is a losing one at the level of the
euro zone as a whole? Admittedly, this would replace the
devaluation that is impossible today in the euro zone, but it
would hurt our European partners (which could even respond, to
our detriment) and 1t does not guarantee gains 1in
competitiveness vis-a-vis countries outside the euro zone,
which depends primarily on changes in the exchange rate for
the euro. Nor would a measure like this replace a reform of
the zone’s economic policy. Finally, it takes time for gains
in competitiveness to translate into renewed growth. For
instance, from 2000 to 2005, French growth came to 7.8% (1.55%
per year), and German growth to 2.7% (0.55% per year). Can
France afford to lose another 5 percentage points of GDP?

France is in an intermediate position between the Northern
countries which have made strong gains in competitiveness at
the expense of purchasing power and the Southern countries
which have experienced excessive wage increases. 0On a base of
100 in 2000, the level of real wages in 2011 was 97.9 in
Germany and 111.2 in France (an increase of 1% per year,
corresponding to trend gains in labour competitiveness). Who
is wrong? Should we ask the employees in the euro zone
countries, first one then another, to become more competitive
than the employees of their partner countries by accepting
wage cuts?

The margin of French companies was 29.6% in 1973. This fell to
23.1% in 1982, rebounded to 30.2% in 1987, and was 30.8% in



2006, i.e. a satisfactory level. The decline occurring since
then (28.6% in 2011) can be explained by the drop-off in
activity and the retention of labour. It was not caused by
higher taxation nor by excessive wage increases. Overall, the
share of profits has returned to a satisfactory level
historically. But in 1973 gross fixed capital formation was
around the level of profits, while it is lower by 3 points of
added value today and the share of net dividends paid has
increased significantly. What commitments would business make
in terms of investment and employment in France in exchange
for a measure that would greatly boost profits? How could
companies be prevented from increasing their dividends or
their investments abroad?

Making use of an internal devaluation like this implies that
France 1is suffering primarily from a lack of price
competitiveness. However, deindustrialization undoubtedly has
other deeper causes. Companies prefer to develop in the
emerging countries; young people are rejecting poorly paid
industrial careers with an uncertain future; France is failing
to protect its traditional industries or to develop 1in
innovative sectors; the financial sector has favoured the joys
of speculation over financing production and innovation; and
so forth. All this will not be solved by an internal
devaluation.

France needs a big industrial leap forward. It needs to carry
out a different strategy: it is growth that must rebuild
business margins, and it is industrial policy (via France’s
Public Bank Investment [the BPI], research tax credits,
competitiveness clusters, support for innovative companies and
for certain threatened sectors, and industrial planning) that
must ensure an industrial recovery. This should be funded by
the BPI, which needs to have sufficient capacity for action
and specific criteria for its interventions.



